



Naam: _____

Datum: _____ Score: _____

$$\left(\left(\frac{3}{4}\right)^2 + \frac{1}{6}\right) \times \frac{2}{5} + \left(\frac{1}{3} - \frac{3}{4}\right)^2 =$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{2}\right) \times \frac{3}{4} - \left(\frac{1}{3} - \frac{3}{2}\right)^2 =$$

$$\left(\frac{1}{3} - \frac{1}{5}\right)^2 - \frac{3}{5}\left(\frac{1}{4} - \frac{1}{2}\right) =$$

$$\left(\frac{1}{2} - \frac{1}{5}\right)^2 - \frac{1}{6}\left(\frac{3}{2} - \left(\frac{3}{4}\right)^2\right) =$$

$$\left(\frac{1}{6} + \frac{3}{4}\right)^2 - \frac{1}{2}\left(\frac{1}{2} + \left(\frac{2}{5}\right)^2\right) =$$

$$\left(\left(\frac{3}{4}\right)^2 + \frac{1}{6}\right) \times \frac{3}{4} + \left(\frac{3}{2} + \frac{1}{4}\right)^2 =$$

$$\left(4 + \frac{1}{3}\right)^2 - \frac{1}{2} - 3^2 - \frac{1}{2} =$$

$$\left(3 - \frac{1}{6}\right)^2 + \frac{1}{2} - \frac{1}{5} - 2^2 =$$

$$\left(2 + \frac{1}{3}\right)^2 - \frac{1}{3} + 4^2 \times \frac{1}{2} =$$

$$\left(2 + \frac{1}{2}\right)^2 + \frac{3}{5} - \frac{2}{5} \times 4^2 =$$



Naam: _____

Datum: _____ Score: _____

$$\left(\left(\frac{3}{4}\right)^2 + \frac{1}{6}\right) \times \frac{2}{5} + \left(\frac{1}{3} - \frac{3}{4}\right)^2 = \frac{67}{144}$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{2}\right) \times \frac{3}{4} - \left(\frac{1}{3} - \frac{3}{2}\right)^2 = \left(-\frac{115}{144}\right)$$

$$\left(\frac{1}{3} - \frac{1}{5}\right)^2 - \frac{3}{5}\left(\frac{1}{4} - \frac{1}{2}\right) = \frac{151}{900}$$

$$\left(\frac{1}{2} - \frac{1}{5}\right)^2 - \frac{1}{6}\left(\frac{3}{2} - \left(\frac{3}{4}\right)^2\right) = \left(-\frac{53}{800}\right)$$

$$\left(\frac{1}{6} + \frac{3}{4}\right)^2 - \frac{1}{2}\left(\frac{1}{2} + \left(\frac{2}{5}\right)^2\right) = \frac{1837}{3600}$$

$$\left(\left(\frac{3}{4}\right)^2 + \frac{1}{6}\right) \times \frac{3}{4} + \left(\frac{3}{2} + \frac{1}{4}\right)^2 = \frac{231}{64} = 3\frac{39}{64}$$

$$\left(4 + \frac{1}{3}\right)^2 - \frac{1}{2} - 3^2 - \frac{1}{2} = \frac{79}{9} = 8\frac{7}{9}$$

$$\left(3 - \frac{1}{6}\right)^2 + \frac{1}{2} - \frac{1}{5} - 2^2 = \frac{779}{180} = 4\frac{59}{180}$$

$$\left(2 + \frac{1}{3}\right)^2 - \frac{1}{3} + 4^2 \times \frac{1}{2} = \frac{118}{9} = 13\frac{1}{9}$$

$$\left(2 + \frac{1}{2}\right)^2 + \frac{3}{5} - \frac{2}{5} \times 4^2 = \frac{9}{20}$$